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Exercise 1

Let a € C*(RY) \ {0} and m € N. Prove that the sequence
¢j(z) =e7jma(jr),  jeN, zeR,

converges in D(R?).

Exercise 2

Let a € C*(RY) \ {0} and for j € N, consider the sequences

¢i(x) =5 "a(Gw),  Wylz)=ja(jz), xER

Discuss the converge of such sequences in D(RY).

Exercise 3

Give sufficient conditions on N € R in such a way that |z|V log |x| € D'(RY).

Exercise 4

1
Prove that (log|z|)’ = P.V.= in D'(R), where the principal value is defined by
T

(P.Vé)(gp) = lim )4 o e D).

e—0t |z|>e X

Exercise 5

For € > 0 consider ]
€

T a2+ e?’
Prove that g. — ¢ in D'(R) as ¢ — 0.

ge(x) = r e R.

Exercise 6

For € > 0 consider ,
fe(z) = (2%6)_‘1/26_%, z € R%
Prove that f. — § in D'(R?) as e — 0.



